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Name: __________________________________



1
If the equation [image: image1.png]


 has [image: image2.png]


 as one root, what is the value of  k?

	1)
	9

	2)
	[image: image3.png]




	3)
	3

	4)
	[image: image4.png]






2
If 2 and 3 are roots of the equation [image: image5.png]v kx+6=0



, what is the value of k?

	1)
	1

	2)
	6

	3)
	5

	4)
	[image: image6.png]






3
If [image: image7.png]


 and 7 are the roots of the quadratic equation [image: image8.png]x4+ kx-T=0



, then k must be

	1)
	[image: image9.png]




	2)
	[image: image10.png]




	3)
	6

	4)
	8



4
If one root of the equation [image: image11.png]x4 kx—1



 is [image: image12.png]


, what is the other root?

	1)
	[image: image13.png]




	2)
	2

	3)
	3

	4)
	5



5
In the equation [image: image14.png]3x+c



, one value of x is 2.5.  Find c.  Find the other value of x.

6
For which equation is the sum of the roots equal to the product of the roots?

	1)
	[image: image15.png]2 rx+l

0





	2)
	[image: image16.png]2 +3x-6

0





	3)
	[image: image17.png]0





	4)
	[image: image18.png]—dx+d

0







7
If the sum of the roots of the equation [image: image19.png]X

+kx-3

0



 is equal to the product of the roots, the value of k is

	1)
	[image: image20.png]




	2)
	[image: image21.png]




	3)
	3

	4)
	6



8
What is the product of the roots of [image: image22.png]—dx+k

0



 if one of the roots is 7?

	1)
	21

	2)
	[image: image23.png]-11





	3)
	[image: image24.png]-21





	4)
	[image: image25.png]






9
Which quadratic equation has the roots [image: image26.png]


 and [image: image27.png]24 A3



?

	1)
	[image: image28.png]—4x+T7=0





	2)
	[image: image29.png]x4+ 4x+7





	3)
	[image: image30.png]_4x+l

0





	4)
	[image: image31.png]






10
Which equation has roots of [image: image32.png]T4 A2



 and [image: image33.png]


?

	1)
	[image: image34.png]x4+ 6x+7





	2)
	[image: image35.png]—fx+T=0





	3)
	[image: image36.png]0





	4)
	[image: image37.png]—Tx+6

0







1
ANS:
1

[image: image38.png]


.  [image: image39.png]



REF:
060606b

2
ANS:
4
REF:
018728siii

3
ANS:
2
REF:
019923siii

4
ANS:
4
REF:
060325siii

5
ANS:


1.25, 0.5
REF:
069940siii

6
ANS:
4

[image: image40.png]


.  [image: image41.png]



REF:
080612b

7
ANS:
3
REF:
018633siii

8
ANS:
3

[image: image42.png]


.  If the sum is 4, the roots must be 7 and [image: image43.png]


.
REF:
011418a2

9
ANS:
3

The sum of the roots is 4 and the product of the roots is 1.  [image: image44.png]


.  [image: image45.png]


.
REF:
061017b

10
ANS:
2
REF:
089628siii

